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Instructions for the Candidates
1. Write your roll number in the space provided on the top of this page.
2. This paper consists of seventy five multiple-choice type of questions.
3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.

4. Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Example : @ ‘ @

where (C) is the correct response.

5. Your responses to the question of Paper Ill are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the ovals inOMR Answer Sheet, it will not be
evaluated.

6. Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

8. If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant ®
entries, which may disclose your identity, you will render yourself :
liable to disqualification. °
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at the end of the examination compulsorily and must NOT @

N
00 0000000000000 0000000000000 00C00COCFOCFOCEOCEOCNONOCINOCGINOINONONONONONONONONOCPNONOEONONOEONEOPOEOEONEOEOOTEOTEOOTO

°
10. Boego 3630, Boes, B BFD), FoF I5ew OMR €u30 T carry it with you outside the Examination Hall. °
ad;::arﬁ éﬁdai.@cd? ﬁ?acﬁu@d; “110. You can take away question booklet and carbon copy of °

» @Qé o e o ﬁ et somedacns OMR Answer Sheet soon after the examination. °
: - RO/ 3R WUt Ft SR LoTtlaial. . 11. Use only Blue/Black Ball point pen. :
12, sgoqdetstt wgm wan® L TR0 WRBRRE RFRIRNT. |12, Use of any calculator or log table etc., is prohibited. o

o 13. 30 80T wvZTRYR 969 BoT ANIRY . 13. There is no negative marks for incorrect answers. °
P °
°* K-1114 R.3.850¢./P.T.O. ®
©00000000000000000000000000000 ©0000000000000000000606000600060



Total Number of Pages : 24

TFORATTD STEZ ) ASFESH

)

Sezoe— I

o0 :

2 By (75) SFF, B> BIT ARTOCH FINERRFTIRAR), Bdodeomd Fohe HTT

(2) eondRy TERcDT Su, FIndRe, IEELTIN GUZORLIED.

1. 7 3¢ 3ZBRTTE F032T 9080 wORSID
—adé BWTEIYPIODF FIF LFTRE 2,000
TR cﬁ i oira@ B MRATID.

(A) 559@&3@57{@@ (B) Zwow0ed
(C) BwrEwzD (D) mo5re

2. 35 IINT CIRES TR T ST 0w
ABREST QTS ?
(A) Foress (B) @0sbmomd

(C) w0, (D) aezmoz(A.P.)

3. XUV R R, Svataeks z%é 03RRI ?
(A) =3 . Sheenda g
(B) =903 8¢ 3¢ Sewnws &
ReOFE SoosONTIT BRI
(C) w1 03 TN
(D) 3B dzsdﬂ@ 0 TS TORTTIED

4. BETRE(A) : 1,008 AFI0Y, TRTEON
aso cFees® waosoowfm?m u&oafaa’mﬂ
&a@bd 2R 90 drﬁrﬁ%cﬁ TRCEITT D,
eI ds&_o e FMROBNVN LZORT.
5089 (R) : sy e moi’boésf 29,33 Lomd
BWRHO [RTTL, B0ZeNG.

RnoBe3NED
(A) (A) 3523(R) Boc3mA), (R) B003R3
QWTFBOIRNT
(B) (A) 33 (R) Roc3nA), =33 (R)
RO0IRNT DECHBCIRNTOR DY,
(C) (A) 2, (R) Boc3RATI
(D) (A) ROCIPNT TS (R) BTN

Paper lll @

5. 33391 i@éid)d QO w—’@iﬁ%ﬂ?’%mo@%
TOND

a’éi—l ﬁz%—ll
B0 BOPER m@&%d SR
1) TFCI i) 1954
2) FHRAI i) 1966
3) ASTA iii) 1989
4) UFTAA iv) 1931
ToFCIND :
1 2 3 4
(A) i v iii i
(B) iv i i ii
(C) iii i i iv
(D) i i iv ii

6. ciracgmcda% 1546-1549 d@ eﬁwfaeo"eé o]
ded‘oﬁdo‘p o3 ﬁeﬁa’@ ?Débamdﬁo 9

(A) wsmfv (B) =oom
©) f&%@@ (D) 30

7. “a3R” QoW NOWSTY O3 BT,
TRRROTT ?
(A) e TEES (B) &0oegroecd
(C) &= (D) oo ow
8. DRPDCIRFAONCDHE TR I SR
20ee3, B3 BSNT RO 20T Ebsaro:’m:@do
(A) 2,000 BTST T, mm@ed T eRT
(B) 2000 ZTesw @’mﬂmdﬁad yelers
(C) TIM
(D) 2,000 IRRT CIE WONCD F$oe3503

K-1114



Total Number of Pages : 24

TOURISM ADMINISTRATION AND MANAGEMENT
PAPER -1l

Note :

This paper contains seventy-five (75) objective type questions. Each question

carries two (2) marks. All questions are compulsory.

1. A famous Jain Pilgrimage centre in
Karnataka established in 7" Century
by Jinadattacharya founder of the
Santhara Dynasty is located at

(A) Shravanabelagola
(B) Hombucha

(C) Moodabidari

(D) Karkala

2. Name the State in which Kolleru lake is
situated ?

(A) Karnataka

(B) Tamil Nadu

(C) Maharashtra

(D) Seemandra (A.P.)

3. What are the aquatic plant system ?
(A) Free water surface systems

(B) Shallow ponds with floating or
submerged aquatic plants

(C) Marshes and Bushes
(D) River systems and its environs

4. Assertion (A) : The concept of rewarding
brand loyal customers through mileage
points has spread to various sectors like hotels,
service and many manufacturing sector.

Reason (R) : The concept of mileage points
have been a popular tool for marketing.
Codes :
(A) Both (A) and (R) are true and (R) is
right explanation
(B) Both (A) and (R) are true, but (R) is
not the right explanation
(C) (A) is false, (R) is true
(D) (A) is true but (R) is false
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5. Here are two list of items. The candidate
has to match an item in one list with an
item in another.

List-l List-lI
Tourism Organisation  Year of Founding
1) TFCI i) 1954
2) FHRAI i) 1966
3) ASTA iii) 1989
4) UFTAA iv) 1931
Codes :
1 2 3 4
(A) i iv iii [
(B) iv i [ i
(C) i i [ iv
(D) i i iv i

6. ldentify the place, where Aghoreswara
Temple was built by Doddanayaka
during 1546-1549.

(A) Banavasi

(C) Ikkeri

(B) Sunda
(D) Keladi

7. Which State is inhabitated by the Tribe
known as Khasi ?

(A) Arunachal Pradesh
(B) Meghalaya

(C) Tripur

(D) Nagaland

8. If we collect data related to the total
number of seats available in an airline,
then we are trying to assess the

(A) Tourism demand of a particular region
(B) Tourism supply of a particular region
(C) TIM

(D) Occupancy rate of a particular airline
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9. The degree of operating leverage is
equal to

(A) Percentage change in profit
Percentage change in sales

(B) Percentage change in profit

Percentage change in variable cost

(C) Percentage change in profit
Percentage change in total cost

(D) Total cost
Total revenue

10. Which of the following are the folk
dances of Rajasthan ?
1) Gair
2) Gavri
3) Walar
4) Dhamal

Codes :

(A) 1,3,4
(B) 2,3,4
(C) 1,2,3
(D) 1,2,4

11. Assertion (A) : Optimum credit policy
indicates allowing maximum credit to well
known customers, depending upon the
situation of the industry.

Reasoning (R) : When credit policy is
optimum, it results in more sales and
more profit.
Codes :

(A) Both (A) and (R) are true

(B) (A) is true but (R) is not the correct
explanation

(C) (R)is true but (A) is false
(D) Both (A) and (R) are false

K-1114
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12. Anincrease in urban population takes place
at a rate much faster than rural populations.

(A) Urban population has high birth rate

(B) Rural population has high birth rate

(C) Large number of people migrate to
urban centres

(D) Urban centres are nearer to rural
areas

13. Which country among the following,
consolidated its position as the Number
One tourism source market in the world ?

(A) USA (B) China
(C) India (D) France

14. During the post purchase phase, the
maximum effectiveness is that of

(A) Sales promotion
(B) Personal selling
(C) Publicity

(D) Advertising

15. Here are two list of items. The candidate
has to match an item in List-1 with an item

in another.

List-l List-lI

Beaches Location
1) Chowpathy i) Tamil Nadu
2) Betul i) Maharashtra
3) Tranquebar iii) Goa
4) Beypore iv) Kerala
Codes :

1 2 3 4

(A) Qi iv ii
(B) i iii i iv
C) iv i iii i
(D) iii v i i
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16. “Eyes have never seen and ears have
never heard such an empire on earth”.
Identify the Empire to which the above
statement refers to

(A) Ashok’s Empire

(B) Mouryan Empire

(C) Vijayanagara Empire
(D) British Empire

17. Which of the following factors are related
with the origin of Indian Monsoon ?

(A) The role of the position of
Himalayas and Tibet Plateau as
mechanical barrier

(B) The existence of upper air
circulation whirls over North and
South poles in the troposphere

(C) The circulation of upper air jet
streams in the troposphere

(D) Different heating and cooling of
huge land mass of Asia and Indian
ocean

18. Find out the true statements and select
the correct answer from the codes given
below the statements.

i) To be useful in India, foreigner's
credit card must be globally valid

i) General Assembly is the supreme
and sovereign body of the WTO

iii) The chief objective of the TAAl is to
protect the foreign tourists from all
possible threats

iv) The members of an affinity group
have common interest

Codes :
(A) i, ii and iii
(B) ii, iii and iv
(C) i,iiand iv
(D) i, ii, iii and iv
K-1114
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19. What is the basic objective of market
segmentations ?

(A) To identify target market niches

(B) To define clearly such market niches
as have similar characteristics and
features

(C) To divide the market into a few
geographical sections so that logistic
operations could be facilitated

(D) To concentrate on a particular
market

20. Air India Flight (Al 573) leaves Chennai
at 12.30 hrs. and reaches Colombo
(+6.00 GMT) at 14.10 hrs. same day.
Calculate the flying time.

(A) 1 hr. 40 min.
(B) 1 hr.10 min.
(C) 1 hr. 20 min.
(D) 1 hr. 30 min.

21. Assertion (A): The sale of current asset
is shown as a source of income in cash
flow statement.

Reasoning (R) : Because when are sell
current asset, immediately hard cash is
received.
Codes :
(A) Both (A) and (R) are true
(B) (A) is true but (R) is not the correct
explanation

(C) Both (A) and (R) are false
(D) (R) is true but (A) is false
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22. Match List-I with List-1l and select the
correct answer using the codes given

below :

List-l List-ll

(Rivers) (Their tributaries)
a) Krishna 1) Chambal
b) Brahmaputra 2) Indravathi
c) Godavari 3) Tista
d) Yamuna 4) Bhima
Codes :

a b c d

(A) 4 3 2 1
(B) 8 4 1 2
(C) 4 3 1 2
(D) 3 4 2 1

23. Bhakra, Hirakud, Nagarjuna Sagar,
Ukai are situated respectively on

(A) Beas, Mahanadi, Godavari and

Tapti

(B) Beas, Mahanadi, Krishna and
Narmada

(C) Sutlej, Mahanadi, Krishna and
Tapti

(D) Ravi, Sutlej, Cauveri and Narmada

24. The value dividing the series in 100
equal part is known as

(A) Median (B) Correlation
(C) Mode (D) Percentiles

25. Which of the following are part of
Doxey’s Irridex model ?

1) Apathy 2) Euphoria
3) Empathy 4) Antagonism
Codes :

(A) 2,3,4 B) 1,2,4

(C) 1,2,3 (D) 1,8,4

K-1114 (o)
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Identify the dynasty to which the most famous
ruler of Vijayanagara Sri Krishnadevaraya
belongs to

(A) Sangama dynasty

(B) Salva dynasty

(C) Tuluva dynasty

(D) Aravidu dynasty

Indian Standard Time is the local time of
821%>° East longitude passes through

(A) New Delhi (B) Bhopal
(C) Allahabad (D) Gwalior

Assertion (A) : Harappan civilization had
extensive trade contacts with other
contemporary civilization.

Reason (R) : Bronze Age Civilisations
were sustained by elaborate exchange
networks.

Codes :
(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R)
is not the correct explanation

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

Here are two lists of items. The candidate
has to match an item in List-l with an item
in List-Il.

List-l List-ll
Folk Dances States

1) Rauf i) Haryana
2) Dhamal ii) Nagaland
3) Kuki iii) Kashmir
4) Chiraw iv) Mizoram
Codes :

1 2 3 4
(A) v iii ii
B) i iv iii ii
(C) i iv [ iii
(D) i i ii iv
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30. Assertion (A) : Tourism development

directly depends on the performances of
tourism suppliers at various stages.

Reason (R) : Poor integration of tourism
suppliers is the major issue in Indian
tourism industry.

Codes :
(A) Both (A) and (R) are true and (R) is
the right explanation for (A)
(B) (A)is false, (R) is true
(C) Both (A) and (R) are true, but (R) is
not the right explanation
(D) (A) is true, but (R) is false

31. Match the List-One with the List-Two and
select the correct answer from the codes
given below :

List-One List-Two
Name of Name of the
the Place District in which

itis located
a) Ambegalu 1) Bellary
Krishna Temple
b) Kumara 2) Ramanagara
Parvatha
c) Devabagh 3) Dakshina
Island Kannada
d) Sanganakallu 4) Uttara Kannada
Codes :
a b c d
A) 2 1 4 3
B) 2 3 4 1
) 1 4 3 2
(D) 8 1 2 4
K-1114
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Assertion (A) : In India, the net sown area
increased by about 20% from the year
1950-51 to 2010-11.

Reason (R) : During the same period,
there had been a gradual decrease in the
area under forest.

Codes :

(A) Both (A) and (R) are individually true
and (R) is the correct explanation
of (A)

(B) Both (A) and (R) are individually true
but (R) is not the correct explanation
of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Match the item in List-I with an item in

List-II.
List-I List-Il

Tourist Spot Famous Place

a) Ajanta 1) Temples of
Chandel Rulers
b) Ellora 2) Cave paintings

c) Khajuraho 3) Kailasha Temple

d) Elephenta d) Brahmanical

sculptures

Codes :

a b c d
A 2 3 1 4
B) 2 4 1 3
) 1 3 4 2
(D) 3 2 4 1
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34. Which one of the following is the best

power of authority ?
(A) Referral

(B) Expert

(C) Financial

(D) Physical

35. Which of the following represents

different types of schengen visa ?
1) Short period visa
2) Long period national visa
3) Transit visa

4) Business visa

Codes :

(A) 1,2,3
(B) 1,3,4
(C) 1,2,4

(D) 2,3,4

36. With which university, WTTC is

associated for its research work.
(A) Oxford university

(B) Cambridge university

(C) Harvard university

(D) Stanford university
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Match List-I with List-1l and select the
correct answer using the codes given
below :

List-l List-lI
(National Park (States)

and Wildlife
Sanctuaries)

a) Nandan Kanan 1) Maharashtra
b) Kaziranga 2) M
c) Bandhav Garh 3) Odisha
d) Melghat 4) Assam
Codes :
a b c d
(A) 4 3 2 1
B) 4 3 1 2
C) 3 4 1 2
(D) 38 4 2 1

In India, the total forest cover (as a
percentage of land area) is

(A) 36.27% (B) 19.39%
(C) 33.23% (D) 26.39%

If the mature of work is repetitive, the span
of control

(A) Decreases
(B) Increases
(C) Remains the same

(D) Increases only if the subordinates
are technically perfect

In which year did the Supreme Court lift
the ban on tiger tourism in core areas of
reserves and sanctuaries in India ?

(A) 2011
(B) 2010
(C) 2012
(D) 2013

Paper Il



AR
M. SRR RIERARODOTHE| Y

42,

T | BOCIRT VBT TR LITCAD :

3&.234 w%—u

TR = TIRTE AT LGN
a) 3YITH 1) wemo
b) e Do 2) wwd
C) %, oz 3) wpRT

FADI~wIat
d) S5 Dz 4) m%mr
ToBeSned :

a b c d

A 4 3 1 2
B 2 3 4 1
) 2 1 4 3
(D) 1 4 3 2

#o;‘v;)éojad% RregeeN B3 FPNSR0TC0Z
DTWORNTOT.

(A) SRS TN 7 YORE SROMOEIN
(B) ABRRT SeBRFIRO3, 57088 TN

R IR, SO
(C) Bz sT3F LB wI

(D) =T [oROROETIT AwoFedd
SRARTN AR v

43. 553N BUTOE Tes- |, Tes- | mfﬁgﬁa
SUZTOHOT TROOR LT :
zes-1 el
ed ed
Ua&gcwoa" TTOTIONED
a) @, 1) R
b) @onger 2) PHOFeex
C) FpadFhes”  3) T,
d) o 4) WIRT
ToBeSned :
a b c d
A) 3 4 1 2
B) 1 3 2 4
(C) 2 3 1 4
(D) 2 1 4 3
Paper il

44.

45.

46.

Total Number of Pages : 24
BET Re9F (A) : STIT DS
20T FOTTICUF LTS $dow0n
3¢z WERGF ucéa@:@d

Fo09(R) : TOTTIWOWT L3373 02i0t30N0Z
ST YR ERFCT 0wty TR WS
ﬂeﬁcdadoq WBNROZT.
ToBeSnEd :
(A) (A) 35 =33 (R) =0
(B) (A) R3)(R) 23R =0, “(R) B00Ins
WO 9.
(C) (A) 3 (R) 28R» 70, Tonie (R)
FOOINT DT
(D) (A) %o Zonie (R) 3,

B3 3$N3 GDS 50@’?37?%952( %) m@‘w’d o]
BROTOZ TR0 WICA0 :

1) Z@owss m &

2) rOdc3ne

3) AT

4) SRODF®
RoFCBNED

(A) 4,3,2,1

(B) 3,2,4,1

(C) 2,3,1,4

(D) 1,3,2,4

U.N.W.T.O. 2530 2000 @#zﬁs&r{a\%m.
(A) eﬁoa’dm%eoja TR 02 30 ﬁcﬂ@
(B) @oédm%eodo TEANT QTN

RO 308 BT ROX
(C) @oéd@%eojo TR T TR
#o;‘é
(D) 030gjeies” DRI £3R0R0 SRF i
K-1114



41. Match the List-One with the List-Two and
select the correct answer from the codes

given below :
List-One List-Two
Name of the District to which
destination then belong
a) Stone chariot 1) Bidar
b) Sat Manzil 2) Bellary
c) Khwaja Banda 3) Bijapur
Nawaz Darga
d) Takht Mahal 4) Gulbarga
Codes :
a b c d
(A) 4 3 1 2
B) 2 3 4 1
(C) 2 1 4 3
(D) 1 4 3 2

42. Culture may be defined more suitably as
(A) Sum total of collective behaviour

(B) Pattern of arrangement, material
and behaviour adopted by society

(C) Un confined ideology of people
(D) Typical habit pattern of people

43. Match anitem in List-1 with an item in List-Il.

List-l List-ll

Nationality Important Settlements
a) Dutch 1) Goa
b) English 2) Pulicut
c) Portuguese 3) Hughli
d) French 4) Chinsure
Codes :

a b c d
(A) 8 4 1 2
B) 1 3 2 4
(Cc) 2 3 1 4
(D) 2 1 4 3
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44. Assertion (A) : Online travel agents pose
a threat to traditional travel agents.

Reason (R) : Online travel agents offer
services at a much cheaper rate
compared to traditional travel agents.
Codes :
(A) (A) is false, (R) is true
(B) Both (A) and (R) are true, but (R) is
not the right explanation
(C) Both (A) and (R) are true and (R) is
the right explanation
(D) (A)istrue (R) is false

45. Arrange the following GDS companies
in the order of their establishment.

1) World span
2) Galileo

3) Sabre

4) Amadeus

Codes :

(A) 4,3,2,1
(B) 3,2,4,1
(C) 2,3,1,4
(D) 1,8,2,4

46. Identify the original name of UNWTO.

(A) International Travel Trade
Organisation

(B) International Union of Official
Tourist Publicity Organisation

(C) International Travel and Tourism
Association

(D) United Nations Tourism Organization
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47. Assertion (A) : California is well known
for fruit gardening.
Reason (R) : Mediterranean climate of
this region suits citrus fruits.
Codes :
(A) Both (A) and (R) are true and (R)
explains (A)
(B) Both (A) and (R) are true, but (R)
does not explain (A)
(C) (A) istrue but (R) is false
(D) (A) is false but (R) is true
48. The Environment Impact Assessment
(EIA) Programme was introduced in the
year
(A) 1975
(B) 1982
(C) 1980
(D) 1978
49. Here are two list of items. The candidate
has to match an item in one list with an
item in another.
List-l List-ll
1) Nanda Devi i) Arunachal Pradesh
2) Similipal i) Meghalaya
3) Nokrek iii) Sikkim
4) Dehang iv) Odisha
Debang
Codes :
1 2 3 4
(A) i [ iii iv
(B) iii v i i
(C) i i iv iii
(D) i i i iv
K-1114
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Which of the following statements
indicate the purpose of FAM tours ?
1) Destination promotion
2) Marketing research
3) Publicity
4) Damage control
Codes :
(A) 1,2,4
B) 1,3,4
C) 2,3,4
(D) 1,2,3

Identify to which Hindu God the first Cave
temple at Badami is dedicated

(A) Lord Brahma
(B) Lord Vishnu
(C) Lord Shiva

(D) Lord Narasimha

Which means of irrigation accounts for
the longest proportion of the irrigation
areas in India ?

(A) Canals

(B) Wells and tube wells
(C) Tanks

(D) Other means

Assertion (A) : Cottage industries and
handicrafts of India flourished due to the
development of railways.

Reason (R) : Railways facilitated the
movement of goods and commodities
across India.
Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R)

is not the correct explanation
(C) (A)istrue but (R) is false
(D) (A)is false and (R) is true
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54. Inthe parlance of communication process

(A) Feedbackis important from the view
point of the receiver

(B) Barriers are likely to change the
message for the benefit of the sender

(C) Understanding the message is
important from the view point of the
sender

(D) Feedback need not be sent unless
requested by the sender

55. The largest legislative building in India
is located at

(A) Chandigarah
(B) Patna

(C) Bangalore
(D) Lucknow

56. The largest shipyard of India is located
at
(A) Mumbai
(B) Chennai
(C) Vishakapatnam
(D) Kochin

57. What is Guaranteed Tour ?

(A) A Tour programme specified in
advance by the travel agency

(B) Itis a programme defined by the
travel agency

(C) It is tour, which is guaranteed to
operate unless cancelled 60 days,
prior to departure. If it is cancelled
within 60 days, full commission is
paid to agents of clients

(D) Guaranteed tour program scheduled
in advance and organised by a travel
agency. In case of cancellation
commission is paid to agents

K-1114
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58. According to Neo-Classical theory, an
organisation is

(A) A structure with well defined functions

(B) Astructure with well defined objectives

(C) A group of people with a common
objectives

(D) A structure with order and objective
rationality

59. Identify the name of the international
Tourism Research Organization.

(A) International Research Organisation
for Travel and Tourism

(B) Travel and Tourism Research
Association

(C) World Tourism Research
Organization

(D) UNWTO — Research Association

60. The first nuclear test of India was
conducted at

(A) Chandipur at sea
(B) Trombay

(C) Sriharikota

(D) Pokhran

61. What does a fly drive tour involve ?
(A) Taxies, cabs and ferries
(B) Monorail, taxies and stay in hotels
(C) Sea cruises, air travel and taxis

(D) Aircraft and cars on rent, stay in
luxury hotels
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62. According to Maslow’s theory of need
hierarchy

(A) Higher order needs would be
satisfied first

(B) Lower order needs would be
satisfied first

(C) There is pattern of satisfaction of
needs of an individual

(D) Needs and wants are one and the
same thing

63. Identify the country which has effectively
managed sustainable beach tourism over
one hundred years.

(A) Maldives
(B) Spain
(C) France
(D) England

64. The presence of O, in the atmosphere of
the earth

(A) Has been responsible for increasing
the average global temperature in
recent years

(B) Itis advantages since it supplies O 5
for people travelling in jets

(C) Hinders higher rate of
photosynthesis

(D) Helps in checking the penetration
of ultraviolet rays to earth

65. In which city of Kerala, the Napier
museum is located ?

(A) Kochin

(B) Thiruvananthapuram
(C) Trissur

(D) Thiruvalla
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66. Which one of the following is not a function
of advertising ?
(A) Informing the customer
(B) Persuading the customer

(C) Understanding the buying capacity
of the customer

(D) Reminding the customer for a repeat
purchase

67. Identify the year in which WTTC was
established ?

(A) 1985
(B) 1989
(C) 1990
(D) 1998

68. Which State has highest proportion of its
population below the poverty line ?

(A) M.P.
(B) Bihar
(C) Odisha
(D) U.P.

69. Which Biosphere Reserve has not been
recognised by UNESCO ?

(A) Gulf of Mannar
(B) Nilgiris

(C) Panchmarhi
(D) Sunderbans

70. Which one of the following is not a cause
of line-staff conflict ?

(A) Dilutions of authority of a line
manager

(B) Staff specialists are not responsible
but are quite powerful

(C) Staff specialists are experts in one
or two fields

(D) Management takes advice of staff
specialists most of the times
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Que. 71-75:

Efficient and professional management is an
obvious prerequisite of tourism development,
of equal importance, however, is the quality of
staff training, which is often relatively neglected.
Tourism basically being a service business, a
developing destination must take the necessary
steps to build a pool of efficiently trained man
power to fill various jobs which will be created
subsequently.

In planning for human resource development,
programmes should be established to screen
and train prospective employees so that they
could acquire both attitudinal as well as technical
skills. Technical skills required include facility
and equipment operation and maintenance,
financial management, food and beverage
production and service, personnel management
and administration and system analysis and
design. In order to determine the need for various
personnel required, a staff planning exercise may
be done. This involves a series of steps which
include job analysis, preparing job descriptions,
job specification and preparing staff forecast. This
sequence of activities leads to a detailed of
exactly what types of persons, with which specific
qualifications and skills will be required at all
major facilities within the tourist destination. All
this helps in determining the development of
requisite education and training programmes
within the country for local residents.

71. Which of the following may not be a
prerequisite for successful tourism
development ?

(A) Staff training

(B) Professional Management

(C) Creating a pool of trained manpower
(D) Timely promotion of staff

Total Number of Pages : 24
72. Pick the odd one out.
(A) Job analysis
(B) Job description
(C) Job enrichment
(D) Staff forecast

73. What among the following is the essence
of this passage ?
(A) Human resource planning in
tourism

(B) Need for training and development
of tourism staff

(C) Job design in tourism

(D) Local community participation in
tourism

74. What according to this passage should
be the essence of planning for HRD ?

(A) Identifying the right source of
recruitment

(B) Establishing programmes for timely
promotion of employees

(C) Establishing programmes to screen
and train prospective employees

(D) Ensuring the welfare of the
employees in the organisation

75. Which of the following may not be a technical
skill required by an employee in the tourism
sector according to this passage ?

(A) Financial management
(B) Marketing management
(C) Personnel management
(D) Systems analysis and design
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